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N dyn kgf N-m kgf-m gf-cm
1 1x10° 1.020x107" 1 1.020x107' | 1.020%x10*
1x107° 1 1.020x10°° 9.807 1 1x10°
9.807 9.807x10° | 1 9.807x107° | 1x107° 1
GE) 1dyn=10"°N
E 7
Pa MPa bar kegf/cm? atm mHg mH,0
1 1x107°°® 1x107°° 1.019x107° | 9.869%x10°° | 7.501x107°°| 1.020x107*
1x10° 1 1X10 1.019%x10 9.869 7.501 1.020% 102
1x10° 1x107" 1 1.020 9.869x 107" 7.501%x107" 1.020% 10
9.807x10* 9.807x1072 | 9.807x107" | 1 9.678x107' | 7.356x107' | 1x10
1.013x10° 1.013x107' | 1.013 1.033 1 7.60%x 107" 1.033%x10
1.333%x10° 1.333x107' | 1.333 1.360 1.316 1 1.360%10
9.807x10° 9.807x107° | 9.807x1072| 1x107" 9.678x1072 | 7.355x1072 | 1
G 1Pa=1N/m®
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J kef-m kW-h kcal W/m?-K kcal/m?-h-C cal/cm®-s-C
1 1.02x 107" 2.778x1077 | 2.389%x107¢ 1 8.60x 107" 2.389x10°°
9.807 1 2.724x10°° | 2.343%x10°° 1.163 1 2.778%x107°
3.60x10° 3.671x10° 1 8.60x% 10? 4.186% 10" 3.60x 10" 1
4.186x10° 4.269x 102 1.163%x17° 1
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W/m-K kcal/m-h-C J/cm-s-C
== (IR, #H)
1 8.60x 107" 1x1072
W kW kgf-m/s kcal/s 1.163 1 1.163% 1072
1 1x107° 1.020x107' | 2.389%x107* 1107 8.60x10 !
1x10° 1 1.020x 102 2.389x 107!
9.807 9.807x107% | 1 2.343x107° .
4186x10° | 4.186 4269x102 | 1 E
G¥) W=1J/s. Tkef-m/s=9.807W Pa-s PGR7 X) cP
1 1x10 1x10°
= 1x107" 1 1%102
7 1x10°° 1X10°2 1
m®/s m®/h 2/min gal(US)/min
1 3.6x10° 6x10* 1.585x10%
2778x107% | 1 1.667x10 4.403 EaE
-5 -2 =1
1667x10° 6X10 ) 1 2.642x10 /s st oSt
6.304x107° | 2271x107' | 3.782 1
1 1x10* 1%x10°
1x107™ 1 1x102
1x107® 1x1072 1
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